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Q.1If the two signs, ‘X and +’ are interchanged, which
of the foIIoww;%_‘?quatlons will be correct?

gfe I RIE,’ ' MY H dod f¢ar e, o

Frafifad & Q &9 a1 GHieor 98 gnm?

(A)14 + 62 x 13 +31 =38
(B) 14 + 9+ 23 x 3 =83
(C) 11 x 12 + 48 + 6 = 40
(D)63 + 59+ 4 x 8 =17




Q.2 The following equation is incorrect. Which two signs should
Interchanged to correct the equation?

e aHie?ur Tad 8. GHiwu &1 98l #31 & fore b= gl fmgi &t o |
JGeHT g e?

14+8 = 16-9x 12 =10

(A) + and +

(B) - and +
(C) + and x
(D) + and x




0.3 Il a, + BTUFAFATUT BIAT S, b, + BT UfAATUT BT
%c, _pryfafAfira #arg ik d, x dTUfaRfa HIars,

If arepresents + , b represents + ,c represents -
and

d represents x , then
24a6d4b9c8="7




Q.4TfE- x PICWUNATR, =+ +PICUTATR,+ + PISUTATS x -
ST ufaf-fia Har s,

If - represents x , + represents + , +represents+ and
X represents -, then

2Xx12+32-5+4=7

(A) 17

(B) 34

(C) 28

(D) 30
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: +,X3ﬁ' ,-,+aﬁ' ,?ﬁ'x,+ﬂﬁ'
i SR

If + represents x , - represents + , X represents +

and
+ represents -, then

12X2+6=-7+5=7




Q.6 Ufe -x DI SIAT ], + +I ST 7, ++ B ST F3NR x -
prufafAfia sars

If - represents X , +represents + ,+ represents =

and

X represents -, then

12- 6+4x10+16 =7

(A) 14
(B) 2
(C) 24
(D) 5




Q.7 gfe +- w1 UfafAitca HIa1 8, -x PTUMAATUT HIaT], x +
o1 yfafAftca sar g oik+ +p1ufaRfita sears a9

If + represents - , -represents X , X represents + and
+ represents +, then

5+5+5-10x 10 =7

(A) 15
(B) 4
(C) 5
(D) 10
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Q.8 Il +-HT Ul BT, -x BT UG BIATE, x +
T UfaAIUT HIar g R+ +BTUfAAfa Hdrg dd

If + represents - , -represents x , X represents + and
+ represents +, then

45 x 9+ 12-5+3 =7

(A) 34
(B) 27
(C) 36
(D) 62




Q 0 gfe = Hﬁ?:."‘\’l'f?ﬂ% - X ﬁ&"&’l’fﬁT% X + Gﬁ'\’ﬂﬁm%ﬁﬁ
+ STUfafAfa Hare
If + represents - , -represents x , xrepresents + and

+ represents =, then

7+ 7x 17-49+7 =7

(A) 189

(B) 119

(C) 145

(D) 169
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Q.10 Ife +-HT AT HId1 8, -x BT UfAARIa BT,
x + B UfafAfia ddr g ofiX + +prufaAfra®arg, @

If + represents - , -represents x , Xrepresents + and
+ represents +, then

3+ 6+ 3-4x4 =7

(A) 8

(B) 5
(C) 6
(D) 4
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Q.11. Select the correct combination of mathematical
signs that can sequentially replace the * signs and
balance the %; en equation.

o TSI BT II B ol Hiud g *
ﬁaﬁgwﬁwﬁawwaﬁvﬁqﬂEWﬁm
PIGD|

14 * 11 * 352 * 23 * 29 = 159

(A)x1 +1 +1
(B)x1 B +1
(C)x1 +1 B
D)+, = +

X++I




Q.12. Which two signs should be interchanged to make
the given equation correct?

faQ 7T T 1 Hel 9911 & ferg fb=1 gi fagi &1 smur o

dedl ST d1fge?
121 +11-42x 6+ 7 = 83

(A)—and +
(B)+ and +
(C)+ and x
(D)x and —




Q.13. Select the correct pair of mathematical symbols to
replace the “*” s a'%ns to balance the glve g atlon

feu T gt T P P forg ™

P4 & fore fordg ﬁﬂé’fﬁﬁe"rmmaﬁl

96*2*20*2*174




Q.14. Select the correct combination of mathematical
signs to replace ‘A’ sequentially from left to right and
balance the following equation.

T Bl HiHD U A 9¢ A ¢ Ia- b fere Tord g Hdbdi &
gmﬁmmmﬁaﬁ?ﬁaﬁr@awﬂwaﬁw
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Q.15. If ‘a’ means ‘+’, ‘b’ means ‘+’, ‘c’
means ‘=’ and ‘d’ means ‘x’ then

2 BT '+'8,'h BT+ B, 'c’ BT}
23R 'd' Brad < gal

11 b15c20a4d5=2




Q.16. Which two signs should be interchanged in the given
equation to make it correct?

feu T gHieur &t "5l 9914 o forw g9H fob < gl &1 3mus
A gcdl ST d1ige?

4—-7/%x28+12+3=4

(A)—and +
(B)x and +
(C)x and +
(D)x and —




Q.17. If + means +, X means +, ¥+ means —
and — means x. Then what will be the value

of the following expression?

g +B1 31 = 8, x BI3d+8,+ BT IS -T 3R -

&1 3 x g1 dI FFufafad siftraafaa s1aM
HTEIM?

18+3-5%x0+4="?




Q.18. Which two signs should be
Interchanged in the following equation to

make it correct?

fFafafed iR adi T & |
mﬁﬁﬁﬁmﬁ%m%@

6+ /X8=21+7=47

(A)+ and -
(B) + and x
(C)+ and —
(D)+ and x




Q.19. Which of the two symbols should be
iInterchange to make the following equation

correct.

fgfaRaa gdierur Sl ggt AR & ferg g &
¥ {5 udie &1 39T | ST ST I1ge?

10+10x 10-10+ 10 =-89

(A)x and +
(B)- and =
(C)+ and x
(D)- and x
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